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COMMERCE
Paper 111
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— Attempt all the questions. All questions carry equal marks.

1. Notice money market deals in funds for :
(A) 1 day (B) 2-7 days
(C) 1 week (D) 2-14 days
2. Commercial paper was introduced as a money market instrument in :
) (A) January, 1990 (B) January, 1991
(C) January, 1989 (D) January, 1992

3. How many Stock Exchanges are there in India ?
(A) 24 : (B) 26
(C) 48 Y (D) 60

4. The first case of Indian Joint Venture was the textile mill established in

Ethiopia by the :
(A) Tatas (B) Birlas

(C) Ambanis (D) Goenkas
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T.B.C. : 2715/ET—III 3 P.T.O.



5. CAATs would normally be used when :
(A) Auditing without computer
(B) Auditing through the computer
(C) Auditing with the computer
(D) Auditing around the computer
6. Derivative markets perform the function of :
(A) Risk management
(B) Price discovery
(C) Transactional efficiency
(D) All ;)f the above

T State the reason why expenses on Human Resource are not recognised as

a capital investment :

(A) Violation of conservative éonoept

(B) An uncertainty about future beneﬁts'

(C) Absence of initial investment in the acquisition of human assets

(D) All of the above

T.B.C. : 27/15/ET—III 4



5.  CAAT, Smrad: @@ wg&a f&a o & v&
(A) s & fam dEn afem
(B) T FR oA Wi
(C) o ® W™ o wiem
(D) HUIE & \Ri ST e s
6. 99 9=k fFw wd @ @ ¥ ?
(A) SifEq ya¥a
(B) W= @™
(C) =07 FHITeal
(D) 39ga |
7. RO ward & ame A@d wowmm w0 §S PR A = 9@l v s ?
(A) TR FETN W IewIA |
(B) wfasg aomsfl & ar ¥ sfsfesam

(C) wHg w=fe & wEa § ynfhivys FEw &1 eruffa

(D) SudE Tl
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8. Which of the following situations would normally lead to a lease being

classified as a finance lease ?

(A) The lease does not transfer ownership of the leased asset to the lessee.

by the end of the lease term

(B) The lessee has the option to purchase the asset at a price which makes

it reasonably certain that this option will be exercised
(C) The lease term is not for the major part of the assets economic life

(D) At the inception of the lease, the present value of the minimum lease
payments does not amount to substantially all of the fair value of the

assets
9. Which type of fund is most likely to have the lo“west management fees ?
(A) Bond fund
(B) Equity growth fund
(C) Equity income fund
(D) Index fund
10. How many credit rating agencies are there in India ?
(A) Three ) (B) Four

(C) Five (D) None of these

T B.C.: 27/165/ET—III 6



8. freiefan # & #rn fufn § 92 WA 9 A @ w2 afige 53
fem syl @m 7

(A) TET 9T N, Ul TRy @ w@fae H1, vz g @ wwifia wougn B i
& el

(B) T W UF Wed W HW @iet 1 fawes ¥ s @ Amm s ¥ T
T faweq wim § e wwm
(©) = % fagr, gofa suffe Staq & g 9m & faw 76 2

(D) Y21 WO @R W gAY g1 SR w1 SEE ed, ¥ & 8 {8 WH
aﬁmmﬁwﬂaﬂﬁm.

9. fou yan % fau i =509 wae Yo @ & §WET § 2
(A) @vE Bz
(B) = (wmgfe) Fie w3
(C) zhmdl a3 w3
D) F[EFF T
10. wwa # feed s g faufor w0 € 2
(A) (B) =W
(C) ur= (D) 78 & #
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11. Name the measure that is important in performance reporting :
(A) Efficiency Ratios (B) Cost Ratios
(C) Return on Investment (D) All of these

12.  Identify the accounting system that defines the process of measurement and
reporting the impact of the entity’s activities on society :
(A) Integral Accounting
(B) Responsibility Accounting
(C) Inflation Accounting ’

(D) Social Accounting

13. Under CPP (Current Puchasing Power) method in the inflation accounting,
the gain/loss on monetary items is determined and adjusted through this

account :

(A) Current Value alc
(B) Current Cost a/c

(C) Profit & Loss alc

(D) None of the above

T.B.C.: 2715/ET—I11 8



11. 39 9Mevs I sarzd S wEema @ar d weegy ® o
(A) =& 9 (B) W& S
(C) f@w =1 wia (D) 7 |4t

12. Wﬁnﬁrmshtmmwﬁwﬁrfaﬁﬁi%%@uﬁwﬁawmmm
Eﬁ!ﬁiﬁﬂ{a : |

(A) ZMYa wETH
(B) Swiargal SErehiv
(C) Twifa A@ERT
(D) wrfe  EErRT

13. CPP (=dgm =itz armm) fafy #F wwifa | 27 @ afyeny, ¢ axgell = = an
g Favifa fea s/ ® oir gwrdem & s © e

(A) &= TH @@
(B) F= Ho9 @
(©) =4 R =R E
(D) 39w § | ®E T
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14. Following the principles of inflation accounting, the financial statements are

restated by the enterprise :
(A) To disclose the current value of business

(B) To show the true position of assets and liabilities at the end of the

accounting period
(C) To give a true and fair view of the financial statements
(D) All of the above
15. Who sets the Accounting Standards in India ?
(A) ICAI (B) FICCI
(C) ASB (D) ASSOCHAM

16. A large low-cost, low-margin, high-volume self-service store that carries a

wide variety of grocery and household products :

(A) Speciality store | (B) Super market

(C) Convenience store (D) Departmental store
17. Another aspect of psychological pricing is :

(A) Segmented pricing (B) Promotional pricing

(C) Reference pricing (D) Optional pricing

" TB.C.: 2715ET—II 10



14.

15.

16.

17.

faetatas st & fegrm o fam faaro @1 sten @R § W getem ¥ o
(A) =HEEE ® G099 9e9 HoFan & |

(B) IwwEifam i wwfa & dame & @ 8 we fefd @ ¥

(©) fam faawoll #1 ¥ &R frog faem =ow

(D) =94 |t

vRE § SEn A e T ¥ ?

(A) ICAI (B) FICCI

(C) ASB (D) ASSOCHAM

o wel Fre-, e o, SR e, A H uE WER W ute SRl S
feom @1 wga-dt fFel TEm ¥ o

(A) fafmem wer (B) ¥R AN
(C) Hfawm W2n © (D) femidem WER
AR qedd 1 gE0 99, €

(A) @fres qe (B) WeaTed g

(C) wHed ¥wA (D) F=feas oo
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18. A ‘Fad’ is :
(A} A basic and distinctive mode of expression
(B) A currently accepted or popular style in a given field

(C) A temporary period of unusually high sales driven by consumer

enthusiasm and immediate product or brand popularity
(D) None of the above

19. An ‘Attitude’ can be described as :

(A) A person’s relatively consistent evaluations and feelings towards an

object and idea
(B) A descriptive thought that a person has about an object or idea
(C) Changes arising in an individual’s behaviour arising from experience
(D) Both (A) and (B)
20. ‘ATM’ is acronym for :
(A) Automatic Teller Machine
(B) Any Time Money
(C) Automated Teller Machine
(D) Anywhere Teller Machine

T.B.C.: 2715/ET—II1 12



18. '#e’' ¥ :
(A) sfweafea &1 smum 3t fafire aliem
(B) #dwm # W W um 43 § agAtda @
(C) I & 3T IR % wgardd 24 W == fama W uw SRy &
(D) W # & w7
19. UH HAgtG = Ao U@ R S wEd § e
(A) T T oI faar @ fowg § 9@ @R 9T F TR geisd
(B) Uw =@ &1 UF 9% @ faun & fawa | aviarees fEEn
(C) Wk = H A9er § I9H A3WE § AGEE IO E
(D) (A) 3R (B) &
20. ATM fwae wfedft v § 2
(A) FEmfes TE A
(B) T 2w T
(C) W Te HeiA

(D) TARE O/ "EH
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91. META marketing refers to :

(A)

(B)
(C)

(D

Marketing strategies used to permanently eradicate the use of
unwholesome products .

Marketing strategies used to sell goods on internet

Marketing strategies used to promote one product or service in hope of
selling another

Marketing strategies involved in selling a product along with its

associated products and services

99 The additional P’s of marketing are :

(A)
(B)
()
(D)

People, physical evidence, packaging
People, process, packaging
People, physical evidence, process

Physical evidence, process, packaging

93. Out of the following which is the most short term of the promotion-mix
tools ?

@
(&)
(i)
(iv)
(A)
(B)
(C)
(D)

Publicity
Personal relations
Sales promotion
Personal selling
(i) and (i7)

(i) only

(z) and (iv)

(1i1) only

T.B.C.: 27/15/ET-I1II 14




21.

22.

23.

META faoum =01 % 2

(&) s R @ T @) ad wud e w B e 4

(B) %20 W umH w=d it famom g

(C) TE TR AT F e H U Fewg A1 WA F WA B FgF G0 i
(D) TF TR T [E Iy gElua w9 IRl o d=Ed S A w5 fAen g
famor & wifafea Ps 70 § 2

(A) <, sitfas wmmon, e

(B) @m, ufwan, d&fem

(C) wm, sifas wamw, wiw

(D) oifasw v, whREl, YR
mﬁﬁaﬁw,m-ﬁaaﬁ%mmmm%?

() <A

(i) =R =Y

(i) Tawa woaeE

(iv) =AfEaa fawasd

(A) (i) 3 (D)

(B) Ha« (i)

(©) () 3 (iv)

(D) e (i)
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24. ‘Gathering primary data by selecting matched groups of subjects, giving them
different treatments, controlling related factors and checking for differences

in group responses’ is called :
(A) Observational Research (B) Experimental Research
(C) Casual Research (D) Exploratory Research

25. The dot-coms, which operate only online without any physical presence in

the market are called :
(A) Click and mortar companies
(B) Click only companies
(C) Both of the above
(D) None of the above
26. An ‘Agent’ is :

(A) A wholesaler who has independently owned business that takes title to

the merchandise it handles

(B) A wholesaler who does not take title to the goods and whose function

is to bring buyers and sellers together and assist in negotiation
(C) Wholesalers that provide fewer services to their suppliers and customers

(D) A wholesaler who represents buyers or sellers on a relatively permanent

basis, performs only a few functions and does not take title to goods

T.B.C. : 2715/ET—III 16




25.

fawdi & wafee w@ 1 990 g0, 399 fafv= &9 § sy +@ ge, g=tam
FE F1 FafEe 5@ g o o & I # ole g wufis siws
THS FA FH TA E

(A) THamT ¥y (B) wrEIfih ¥y
(C) =EfE Y (D) v&AYon ¥y

Zr-3m, 9 grar 4 fam fEdt difos sufafa &, faa st gea € 97 Feena
¥ :

(A) T 3im =9 w5
(B) foars wae Fl
(C) 39gFa <

D) IvgF § ¥ =

TF TR R o:

(A) T o faga fage @a ¥9 # S99 FEEE § W ANK IR S vHE
TN ¥ R T e e ©

(B) 7% o9r% fasmm o gE & vids 9@ am &R 3w w9 ® F adiegn iR
fawasal #) UF W9 @@ TS0 @ H gerdal SE

(C) 49 fagar 1 a1 el I IdETe H wF YA WA @ ¥

(D) vF 9% faga =) wiegnl @ fGRa 1 el w9 3 5w s@ ¥ o
Fae ®F @ #d Fa ¥ GWE F vieE F@ oo
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27. Which of the following does not form the part of sustainable marketing ?
(A) Social marketing
(B) Societal marketing
(C) Innovative marketing
(D) Sense of mission marketing
28. Another name for ‘Intermarket Segmentation’ is :
(A) Intramarket segmentation
(B) Cross-cultural segmentation
(C) Social class segmentation
(D) Cross-market segmentation
29. Which of the following does micromarketing include in its scope ?
() Individual marketing
(i) Local marketing
(fii) Customised marketing
(iv) One-to-one marketing
(A) (i7), (iii) and (iv)
(B) (i), (i) and (i)
(C) (i), (5d) and (iv)
(D) (@), (i), (iti) and (iv)

T.B.C. : 2715/ET—III 18




27. frofafas #§ 4 %19 9oy oo =1 s = 59 ?
(A) smifas fagom
(B) wmewd fauom
(C) wada famor
(D) oo & H3d fagom

28, oateR fa@ves #1 W AW ¥ ¥ 2
(A) e faEves
(B) wrg-wrapfos famme
(C) wrfss =7 fa@ves
(D) FE-areR faavsa

29. ww-faurm & ¢ &7 § fafafeas § 3 $F % 2
() =afErE fague
(i) TgrE fague
(¢i) watEa fagoE
(iv) aa-g-aw‘fémm
(A) (D), (i) 3 (o)
(B) (@), (i) 30T (i)
(C) (D), (iii) 3 (iv)

(D) (&), (D), (Fii) 3T (iv)
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30. RFID (Radio Frequency Identification Tags) ax.'e used to :
(A) Track the goods and customers
(B) Track the goods
(C) Track the customers
(D) None of the above

31. Which of the following is not a technique of demand forecasting in

HRP ?
(A) Workload analysis (B) Workforce analysis
(C) Bureks-Smith model . (D) Goal programming

32. In which country was the concept of Quality Circle first originated ?
(A) Japan (B) USA
(C) UK | (D) India

33. National Productivity Council was established in the year :
(A) 1938 (B) 1958

(C) 1948 (D) 1968

T.B.C. : 2715/ET—III 20




30. RFID (¥fzh smgfv oo @Fa) fead wgsa & & 2
(A) FEA SR TSR 1 gE @

(B) TmE™ & U@ @A H
(C) Wl =1 y@ @y o
D) v d | 5 W@

81. frfafes # ¥ S %% HRP # =M qatgm =1 7 & 2
(A) w1 wr favdum (B) F/ =@ faversm
(C) F=-fog wizs (D) =& shurﬁm

92, FHR 3w A TEW g9 F RS w1 wa T I g A ?
(A) =TI (B) #.UHT,

(C) 3. (D) wE

33. U TEema w1 e fmoad # g 2

(A) 1938 (B) 1958

(C) 1948 (D) 1968
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34.

35.

36.

37.

Under Industrial Disputes Act, 1947 every establishment is required to

constitute a works committee employing workers :

(A) 100 or more (B) 500 or more

(C) 1000 or more (D) None of these

In competitive times which recruitment technique is popular ?

(A) poaching (B) raiding

(C) head hunting (D) all of these

Structured interview selection technique is addressed as ;

(A) Guided interview (B) Directed interview
(C) Patterned interview (D) All of these

HRM is normally ...l in nature.

(A) Proactive (B) Reactive

(C) Combative (‘D) None of these

-

T.B.C.: 27/15/ET—II1 22



34, enfrE oftar afufem, 1947 F o voF @ w1 qegd = Rt

1 UF F afufa mAE WG ¥ ?

(A) 100 = sfus (B) 500 & Hiu=w

(C) 1000 =T faw (D) =8 | FE T8
35. IQ wiadfe % we § 9 & FAE aFA ggerdad & 7

(A) wfEm (v=e) (B) =W (w1 wRAn)

(C) far aem (Be =f=m) (D) 3 [

36, TEAE WYCHE 999 O@dlE @l @l S9d o1 §hdl 8 7

(A) =rfesis HaTET (B) Tfer marsn
(C) wUIETsg HIARR (D) F =+t

37. HRM w&fa & gmrga; e g
(A) wafEy (B) afwfswargie
(C) FeR] (Fvafes) (D) T79 | F=E @
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38.

39.

40.

4]1.

Which method is not a modern method of performance appraisal ?
(A) MBO

(B) Assessment centres

(C) 360 degree

(D) Forced distribution method

Remuneration calculated according to the number of hours worked is commonly

called as :
(A) Pay (B) Reward
(C) Wage (D) Salary

Multiple management technique of executive development is developed by :
(A) Charles T. Horngren

(B) Charles P. McCormick

(C) Stephen R. Robbins

(D) Stephan Covey

ILO observes this day every year as World Day for Safety and Health at

Workplace :
(A) April 28 (B) May 1
(C) March 21 (D) July 22

T.B.C. : 27/15/ET—III 24



38. FH@ HEAEwa & wAE Gy med 586 § 2
(A) MBO
(B) Hea=T F%
(C) 360 f=m
(D) =efae faa fafy
39. FM F W W UENEH HHEH T e #= hEAa § 7
(A) s () (B) wifidife (figrd)
(C) we’dl () (D) &aF (Fer)
40. FEHH fGFE F aggasn aede Res oo fawfoa 5 o 2
(A) =l #. 2
(B) = . Heifte
(C) *=rea 3w AfEg
(D) =rFa wEE

41. TLO BRI Wim &F &weh, Woid a4, FE e | g o @ @ fou fave

fomm &5 B2 & 2
(A) 28 =70& "(B) 1 =
(€ 21 wr D) 22 word
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42.

43.

The Factories Act, 1948 provides for creche facility at the workplace employing

women more than :
(A) 5 (B) 10
(C) 20 (D) 30

Many legislations are enacted in India from time to time for the welfare of

labour. Choose the incorrect one from the following :
(A) The Mines Act, 1952

(B) The Motor Transport Act, 1951

(C) The Merchant Shipping Act, 1958

(D) The Plantation Labour Act, 1951

In paired comparison method, maximum number of pairs is computed by the

|
Y

formula :
.. 1-=n* ¢ s |
(A) 20 (B) o
n*-1 nin-1)
(C) ) () 2
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42.

43.

44.

daett afufan, 1948, A A # e § sl afeenad =1 Fafag =, o oy

I@VE H5 B gEY WEE & 7 2
(A) 5 (B) 10
(C) 20 (D) 30

W%W%mw-mmmﬁﬁmﬁaﬁmmnﬁnﬁwﬁwﬁm

# | e S 9

(A) =g AEFEE, 1952

(B) wrer oftmed wfufaam, 1951
() wa= fafgn sfufam, 1958
(D) ey @&y afufFam, 1951

Tfrg ge fafu # gl 9 sfwwmm wen @ fEw g g e e s

¥ ?
1-n* n®-1
w = ®
) ==t o 2D
2 2
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45. VRS is popularly known as :
(A) Transfer (B) Golden handshake
(C) Dismissal (D) Retrenchment
46. Where was ASEAN formed ?
(A) Philippines (B) Vietnam
(C) Bangkok (D) Cambodia
47.  European Community (EC) was formed by the merger of :
(A) European Union + European Atomic Energy Community
(B) Europeaq Coal and Steel Community + European Economie éomunity
(C) European Union + European Coal and Steel Community

(D) European Coal and Steel Community + European Atomic Energy

Community + European Economic Community
48. The acronym for OFDI stands for :
(A) Outward Foreign Direct Inv.estment.
(B) Offer for Foreign Direct Investment
(C) Open Foreign Direct Investment
(D) Open for Foreign Direct Investment

T.B.C. : 2715/ET—III 28



45. VRS = #FWAR 9T w1 96T & o
(A) TR (B) w&fofm gwfaans
(C) =EERs (D) =

46. ASEAN @& =1 @1 ?

(A) fHeidA (B) fazaam
(C) S (D) Fw=Erteg
47. Ui g™ (EC) % fogo J &+

(A) ThdE €9 + FME TWHN] FW SHEE
(B) FUda $raen IR €@ WEE + gUuE Jids 95gE
(C) FU9a ¥9 + UG HFen R e g5z

(D) F9E Frgen 3k Ea qEE + A WE Fel 9eE + gidE . anfds
TR

48. OFDI =1 oftavii =0 & ?
(A) mmmm
(B) B ®R WA EREe A He
(C) &7 wIfE ZmEe waweie
(D) 7 wR W T o
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49. TDRe mean :
(A) Time Dominant Rights
(B) Transferable Dominant Rights
(C) Transferable Dual Rights
(D) Transferable Development Rights
50. The culture of Global market place was introduced by :
(A) Kenichi Ohmal
(B) Theodore Levitt
(C) Adam Emith
(D) Thomas Hult

51. TRIPS regulation of WTO makes it obligatory for members (other than poor

nations) to grant and enforce patents for :
(A) 20 years (B) 30 years

(C) 40 years (D) 50 years

T.B.C. : 2715/ET—III 30



49. TDRs @1 &7 &4 8 ?
(A) =rEa A= T
(B) ZEH@Ea Bifad=2 U5
(C) TaHEs YU TZH
(D) TERES TAAIHE TFH
50. dSfvas aem @A @ Gepf e g w2
(A) Hfafa reEE
(B) fudrdr afae
(C) Teu ey
(D) «H8 &

51. WTO &1 TRIPS o weddi & fom (e 2w & areman) fead ol & foag 2=

# TEH FE R aida 79 B U Ay ® 2
(A) 20 @9 (B) 30 ¥

(©) 40 =d (D) 50 ad
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62. Which exchange rate system is used by India ?
(A) Independent Float
(B) Managed Float
(C) Crawling Peg
(D) Fixed Exchange Rate
53. South Asia Free Trade Agreement was devised in which summit ?
(A) 11th (B) 13th
(C) 12th (D) 10th

54. The exchange rate determined by the relative prices of similar basket of goods/

services is explained by :

. (A) Absolute PPP (Purchasing Power Parity)
(B) Interest Rate Parity
(C) Relative PPP (Purchasing Power Parity)

(D) None of the above

T.B.C. : 2715/ETIII 32



52, wwa # wran fafg ) @ vgee g ¥ 2
(A) T=T= vaOE

(B) wafaa wam

(D) fer fafma =2
53. =i ufyEE wea =R afy fEw wdeE # & 2
(A) 119 (B) 134
. (0 128 . (D) 104

54, fafma =1, AE/AM & UF 99F ahe ® anies ged g fuifa #5 s g

Towl e fRas g # oW wEdl B 7
(A) ¥ PPP (@iiT Fud THMAM)

(B) =™ T FHMAE

(C) anife PPP (WEiig 3raa |1

(D) 3w # | =g 7
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55. The leaders of Canada, Mexico and the United States signed a historic trade

Accord, the NAFTA on :
(A) Dec. 17, 1993
(B) Dec. 17, 1992
(C) Deec. 17, 1991
(D) Dec. 17, 1994

56. ‘A situation in which a currency loses a significant amount of its value in

a relatively short time’ is termed as :
(A) Convertibility crisis
(B) Currency convertibility crisis
(C) Current convertibility crisis
(D) Currency crisis
57. Identify the full form of NAFTA from the following options :
(A) North American Free Trade Agreement
(B) North American Foreign Trade Agreement
(C) North American Foreign Trade Association
(D) None of the above
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55. #rel, HiFw®! iR FEeE Wew # Yo 3 us fawfow =R guEE, NAFTA
T FEa Fa a2

(A) 17 fegsr, 1993
(B) 17 fewaw, 1992
(C) 17 fawaz, 1991
D) 17 feg=r, 1994

56. U feufa foredl o w3 st w0 w9 § W 7o # weEl W # Al
o ¥, W ¥ wEd ¥ 2

(A) wftad=sa d%e
(B) wHz wfiad=ar §&e
() adur wfed e
(D) Tz H&2
57. NAFTA & 99 @&y ¥ :
(A) o AR W T i
(B) ¥ smfws wiig 3 witdz
(C) =4 Efra wifa 2T |nad

(D) 39¥ § | +r¢ T
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58. Level II ADRS must meet :
(A) Home country accounting standards
(B) US GAAP standards
(C) Both US GAAP and home country standards
(D) None of the above

59.  Geert Hofstede, defined four dimensions of culture explaining how behavioural
dimensions can be attributed to culture. Which of the following is not covered

under the said classification ?
(A) Power Distance
(B) Masculinity/Feminity
(C) Masculinity/Collectivism
(D)) Individualism/Collectivism
60. TRIMs stands for :
(A) Trade Related International Measures
(B) Trade Related Intellectual Measures
(C) Trade Related Investment Measures

(D) Trade Related Initiative Measures
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58. ¥R II ADRS fF3% san 2F1 =ifee ?
(A) ¥ 3| @@ TES
.(B) US GAAP o1&
(C) US GAAP 3r 7z 2w 2 o=
(D) 3wiE # | w1 T

59. TiE BIRREH A i ® WX IEW W v fFw fF PR s s w5
TEH ® WY TR FOFE | B T G B osgen frefefas § 8 e
THE T TE o 2

(A) == T
(B) gwamﬁa
(C) ouw/qfEswal
(D) =R/ AT
60. TRIMs fFes fom woaa 21 & 7
(A) 2= fErs fetivme o™
(B) 2z fierz fomgem g
(©) = fore iz ded

(D) 23 Rees sFfmfa ded
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61. Dednction under Section 80G relates to : ,
(A) Payment of interest on loan taken for higher education
(B) Medical insurance premia
(C) Donation to certain funds, charitable trust ete.
(D) None of the above
62. Which of the following assets will not be treated as capital assets ?
(A) Agricultural land in India in a rural area
(B) Special Bearer Bonds, 1991
(C) Gold Deposits Bonds issued unfler Gold Deposit Scheme 1999
(D) All o‘f the above

63. Perquisite received by a teacher/researcher from a SAARC member

state :

(A) Will not be taxable upto 2 years
(B) Will not be taxable upto 5 years
(C) Will not. be taxable at all

(D) Will be taxable
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61.

62.

AR 80G # Irwra w2 fFas wey § & 2

(A) o= Togn & fou fow @ = w =9 3 smd
(B) Tefsmm @ fas

(C) +z fa¥m wvgl, grwie o2 & fae =@

(D) 37w 4 § #5 T

Fefafem 4 4 fem wofs =1 d5ma =& == s 2
(A 9ma § ardfim 4% 4 wfy iy

(B) fafer= urw afvz, 1991

(C) = =\ 4/ 1999 F a=rTa 5 wm afe
(D) 3947 |/l

SAARC #59 &9 A UF AATH/SiwdG =1 5a o
(A) 2 =91 o FT 43 TE B

(B) 5 =W @% ®T A0Y TE =00

() fo=rs ft %1 9y 38 At

(D) =T 9m3 e
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65.

What is the ‘status’ of XYZ Group Housing Cooperative Society ?
(A) A company

(B) A local authority

(C) A firm

(D) An association of persons

Under Section 273A, penalty can be reduced or waived by the Commissioner
of Income Tax in a few cases. For this purpose, an application should be made

by the assessee within :

(A) 30 days from the date of receipt of penalty order
(B) 90 days from the date of receipt of penalty order
(C) 120 days from the date of receipt of penalty order
(D) No time limit

The filing of return of loss u/s 13%(3) to avail the benefit of set-off and carry

forward of loss is called :
(A) Tax Avoidance

(B) Tax Evasion

(C) Tax Management

(D) None of the above
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64. XYZ 7u wEfan wmifes drard @t fafa 70 2

65. TRM 273A & Fa S AHA H AFH HATH A g F FH 9 WE fEm
W FEal B 39 Tou Fwm # fFed T B oo andea-va 3 wifee ?

(A).-maﬁméﬁaﬁﬁﬁfuﬁmﬁ?
(B) zvz amy % faem =1 fafa ¥ 90 R
(© vz v @ foen W fE @ 120 e
(D) w=g w2

66, W-3F H1 oy 99 3w # J & 9 & fau o ws 1393) & fed =

3 AT :
(A) =t 9f@En
(B) & 2o

(C) & War
(D) 3wdFa ® @ FE @
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67. Specify the conditions when seruting assessment is done if :
(A) The assessee is believed to have understated the income
(B) The assessee is believed to have not computed excessive loss
(C) The assessee is believed to have under the tax in any manner
(D} All of the above
68. Which of the following is not required to obtain a PAN ?
(A) Charitable Trust
(B) Person Specified by Central Government
(C) Person whose income is = ¥ 5,00,000
(D) Person whose income is < ¥ 5,00,000

69. If the return is uploaded without digital signature and ITR-V has been
submitted within the speciﬁed period, the date of furnishing return will be

taken as :

(A) The date of uploading the return
(B) The date of submission of ITR-V
(C) Any of the above

(D) None of the above
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67

68.

69.

W T R WA T Hfag geaews few s € oAl

(A) F@EW W FHEa ¥ v fGvam g

(B) =@ 3 sfafem w2 @ 9mvm 55 e oo favew #
(C) =wm f&dt o an § 71 & o=ia &, U favew ®

(D)Isv!_taawﬁ

PAN 7 = Frafafas § 8 fews smavsss & &6 2

(A) TrEiem 2%

(B) #=19 TR 5 fasmiwa =afm

(C) ww =l fomst 99 > ¥ 5,00,000 &

(D) ww =afm famsl @M < T 5,00,000 #

Afg fred =1 fam fefoea waer & sveie #1 fam s & 3R ITR-V = uw fifves
g H oI # e v € @ fed wae w9 fofa e e 2 |

(A) = smere %0 Fi fofg
(B) ITR-V =7 &1 &1 fafg
(@) I d & F o
(D) 9w § | & 5
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70.

71.

72.

When Rohan, an individual, takes mediclaim of ¥ 15,000 so as to reduce his

income chargeable to tax from ¥ 4,15,000 to T 4,00,000. This is an

act of :

(A) Tax Planning (B) Tax Avoidance

(C) Tax Evasion (D) Tax Management

Lease rental can be claimed as ......cccooecneeee. against business income.

(A) Admissible Expenses
(B) Inadmissible Expenses
(C) Both (A) and (B)

(D) None of the above

State the conditions when repairs and renewal of an asset are allowed as

deductible expenditures :

(A) If the building is rental

(B) If the repair expenditure is of capital nature
(C) Both (A) and (B)

(D) None of the above
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70. & U OF S w3 aSifEeaa s T 4,15,000 | T 4,00,000 W 31 F Sy
T 15,000 &1 HEhEEm HT FH w@ ¢ 9% FAE EmE 7

(A) X = (B) & yfizr
(C) =X e (D) = WE+H
71, =EEEE w@ @ favde vz fEod &) fog =x F fow W mwa@ & 2
(A) == @
(B) Zw=a @Al
(C) (A) 3R (B) I
M) 39T # | FE @

72. U TN F FARA & Uw gofd & q0Hd R FemIe F wada @l 5 9 s
t

(A) =z vaq f&d wm %

(B) 3fe woom =4 I wFfa =1 #
(€) (A) 3t (B) 2

(D) 3Ivd=a § | F:g 7
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73. If an asset is replaced by a manufacturer, he can claim :
(A) Depreciation on such asset
(B) Cost of asset
(C) Expenditure incurred as repairs and are allowed
(D) None of the above

74. Which of the following is deductible, if the machinery bought to manufacture

the product/component ?
(A) Cost of Machinery
(B) Benefit of Depreciation
(C) Both .(A") and (B).
(D) None of the above
75. Deduction on a/c of repair and renewal of an asset is allowed if it is :
(A) Capital Expenditure
(B) Revenue Expenditure
(C) Deferred Revenue Expenditure

(D) Both (A) and (C)
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73, Oz Fa gw ouw wmfa & fawafm fen sm % @ 98 o o " § o
(A) 30 == & gedad
(B) F=fa =1 He3
() "osm w1 e T o= s Hwia ww
) Iode § § wd

74, Faefataa 8§ S w59 » 9y ¢ AR sme/eEye e & fa weie wiE

W ¥
(A) TIH T FHA
(B) o9E ® @Y
(C) (A) 3R (B) 2
(D) 39gEa # | = T
75. fad TEtn 1 Are SR AEEE W oEAE B oadt wEfa ¥ e Aw T e
(A) it =
(B) ame =1 =+
() st SR w7 ow

D) (A) 3T (C) BA
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